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The figures in the margin indicate
Jull marks for the questions.

1. Choose the correct answer of the following :
(any six) 1x6=6

were MRS va Tetn! A Siensar g
(R wby)

(a) One of the features of public goodsis

IR TI] G5t @RS T

(i) non-excludability

SRGNCIINTS!
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(b)

(c)

(ii) excludability
[T
(iii) rival consumption
. eifSaRt Beiretat
(iv) market determined price
G iR aw
Subsidised low housing is an example of

YIS [ 9z Fofid <4
T | ® Al

(i) social wants
ANES o

(ii) collective wants
M ESICIOE

(iii) merit wants
4 e

.(iv) All of the above

89T HHRER

The best example of social wants is

TANETE TSR B Beg® Trrmel o

(i) national defence

IER Fatorer
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(d)

(e)

(ii) education
[kl

(iij) water supply
SR I

(iv) power supply
A& oI

Which of the following is a compulsory
payment to the government?

Ood (ICO! HIRIRCA Tl QOIS i 2
(i) Fees
e
(ii) Price
s
(iij) Tax
N
(iv) Fines
G
The main objective of tax is
TR d4H T T

(i) to regulate the economy

aifde 77 FaEd s
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(i) economic stability l (ii) value added tax
]

i feer | T WA 39
(iii) to generate the |
it 3@ = employment (i) consumption tax
. ‘ 9
(iv) All of the above | com
8] IDIRH25! (iv) destination-based tax
39
() Income tax conforms to the principle of TS g=e I 2ofore
' 5 (h) A budget in which total expenditure is
()  ability to pay just equal to total receipts is called
SN I ! | R DS [P I PP AR T |, G
(i) benefit ! ACEHT @RI W
e (i) balanced budget
(iii) cost of service W ST
. ii) surplus budget
(iv) None of the above | () surp 8
Ty 3MTn

89T bI8 Fay
(iii) deficit budget

(9) Goods and service tax levied in India is | <ifo qTen
WW‘@MWR}W C’RITW(GST) G|
(i) gross value tax

T U =

(iv) All of the above
89T SGIZH!
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Which of the following measures
influences the economic stability of an
economy ?

O (I JIZIR LS G s I
Aeife FI?

() Nation’s budget
AT AcSH

(i) Taxation
T e

(iii) Public expenditure
JERI I

(iv) All of the above

S5 SBIRCEL5!

Redemption of public debt means

IS A R[Ny i

() repayment of public debt
SR A 7y

(i) refusal to pay public debt
TSR A sHfReite R S
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2.

(iij) Linking public debt with external
sources

A To| TS AT A9 A I
(iv) All of the above

85iTq SIGIRH!

Answer the following questions : (any five)

2x5=10

TS RIRT O o ¢ (Rrmzan Astra)

(a)

(b)

(c)

(@)
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What is public goods ?
JeRT & & 2

What is free rider problem ?
& QAR o [ e

Define tax.

I @ faa |

How many tax slabs are there for GST ?
GSTT M (I 39 BT (slabs) BCF ?

What do you mean by the term
‘budget’? What are its two broad
components ?

e I B @ 2 2T elg g5 e 5 2
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(i Mention two sources of public borrowing.

eI W47 75! BT Srme 711 |

(g) Explain two merits of indirect tax.

PRF T 75 JRet gt 4

3. Answer the following questions : (any six)
5x6=30
VTS MWW TS it 2 (Rt e

(a) Point out the differences between public
finance and private finance,

oI % W IReore Riew st B |

(b) Distinguish between pure ang impure

public goods with the help of suitable
examples.

ﬁwmwwmmvmﬁqm
S RS
TS 1yt 2w |

() Explain the concepts of positive and
negative externalities,

Wmmwmmm%mmzﬁw
|
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(@)

(e)

(9)

v

()

0

Discuss in brief the characteristics of
a good tax system.

A ] IRZR WHBPTEZ T e 9541 |

Define and distinguish between direct
tax and indirect tax.

AOTF IR FIEF TR/ W& WA o oy
e 100

Explain any five features of GST.

GST3I Rt «isbr &gy &

Explain briefly the significance of public
borrowing.

IR AR SFF 5T A [

Point out the differences between
internal and external debt.

TS W% AF ISR W91 ST Gy
1|

Explain in brief the functions of Finance
Commission.

e T FIGRE SR I 71 |

Point out in brief the essential features
of federal finance.

R 1A
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(b) Give an overview of fiscal functions.
4. Answer the following questions : (alr(z)izt:;%) - S < .

SO R TS fordt ¢ (Rizerear 7o13) (c) Discuss the burden of public debt.
(a) ‘“Free rider problem is closely connected TR A Qe KA o 4|

with public goods.” Explain the

statement.

“IE IR TP ISR TR 1S v

TS ” ISR I 3[4 |
(b) Explain the regressive taxation analysis.

FAZPTN 9 NG Y 51 |

() Elaborate the criteria of optimal
taxation.
P TN ANTR ToIBSTE 1251 3541 |

(d) Briefly analyse the advantages of GST.
GST 3 FRaPR Resaet 31|

S. Answer any one of the following questions :

14
O Rl 2RI Rzt «bre e B 2

(@) What is fiscal federalism ? Analyse the
nature of Indian federalism.

ITER APl Rosae w1
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